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BELOW THE SURFACE OF NISGHA SYNTAX: ARGUMENTS AND ADJUNCTS

Marie-Lucie Tarpent
Nisgha Bilingual/Biculturaf Centre
$.D.92 (Nisgha), New Aiyansh, B.C.

Languages can be divided into those which have lexical arguments and those which
have pronominal arguments (Jelinek 1986).

In lexical argument languages such as English, the arguments of a predicate, whether
nouns or pronouns, are separate words which can be said in isolation, asin

(1) The cat caught a mouse.
(2) She ate it.

In pronominal argument languages, on the other hand, the arguments are not
separate words, but pronominal morphemes more or less tightly bound to the predicate.
They must occur together with the predicate, whether or not lexical referents for these
bound pronouns are present in the clause as adjuncts. Typical examples occur in
colloquial French, where obligatory pronouns remain close to the predicate, while the
coreferent words, or nominal adjuncts, have great freedom of occurrence, asin:

(3a) Moi, le poulet, j'aime ca.
me the chicken I like that
(3b) Moi, j'aime ¢a, le poulet.
(3c) Jaime ¢a, moi, le poulet.
(3d) Jaime ¢a, le poulet, moi.
(3e) Le poulet, j'aime ¢a, moi.
(3f) Le poulet, moi, j'aime ¢a.

all of which mean

(4) Ilove chicken!
with varying degrees of emphasis on the lexical elements of the sentence.l
Applying this analysis to Nisgha on the basis of a limited set of data, Jelinek 1986

concludes that Nisgha has a mixed lexical-pronominal argument structure, with nouns
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and suffix pronouns in complementary distribution. Additional data will show that the
argument structure is truly a pronominal one, with lexical elements serving as
adjuncts, but that this structure is obscured by the operation of a phonological rule of
de-affrication which deletes the 3rd person suffix pronoun —t before some common
pre-nominal morphemes consisting of fricatives, the connectives =5 and =% .4/ 2
When this rule applies, nouns appear superficially to be suffixed to verbs, but the
pronoun does occur on the surface together with a noun whenever conditions prevent
the application of the rule. Other data also support the analysis of pronouns as
arguments and nominals as adjuncts. Constructions which appear on the surface to be
exceptions to the general rule can be shown either not to be exceptions at all in the
light of this new analysis, or to be very recent developments influenced by English.
However, J's analysis is not incorrect, since both internal and external analogical

factors seem to be moving the language towards the mixed argument structure that she
describes.

1. Syntactic generalities:

There are two basic clause types in Nisgha: regular clauses and predicate-focused
clauses.3 A regular clause is usually introduced by an element such as Subordinator, a
Specified Complement, a Relative-Ergative clitic, or by an Auxiliary or Negative verb,
or by another predicate, verbal or nominal, but it can also occur on its own.

These structures where the predicate is usually preceded by various elements contrast
with the predicate-focused clause where those elements cannot appear and the
predicate is the first constituent of a main clause. Other elements can also be focused,

or relativized, but the clauses in which they appear can be related to one or the other
of the two basic types.

Both types of clause can include a modal particle and/or one or more modifiers, as well
as an evidential postclitic.

2. uggesting noun/pronoun complementarity:

For most Nisgha constructions, suffix pronouns appear to occur in complementary
distribution with a sequence of pre-nominal connective + noun. Connectives (Boas'
term) link nouns with immediately preceding constituents under certain conditions.
In addition, they specify whether the noun is determinate (if preceded by the
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determinate connective =3, glossed as DC), or non-determinate (if preceded by the
non-determinate connective =%, glossed as NC).4

The following examples, which are typical of commmon elicitation patterns, show the
morpheme sequences that appear on the surface in the basic clause types.5

2.a. Regular clauses: In regular clauses (the most common type), the personal suffix
which is attached to the predicate refers to the Absolutive argument (intransitive
Subject or transitive Object).

2a.1. [ntransitive: the suffixed Absolutive argument is the Subject of the intransitive
verb:

GY UK=Ly i xk W F I am eating.
AUX=NCeat-1S Yukwhl yuuzgwiy

(6) yuk"=£yuxk¥-t S/he is eating.
AUX=NC eat-35 Yukwhl yuugkwt.

(7) ¥a-naks-t S/he is married now.
now married-3 Hlaa nakst.

A connective + noun sequence can be suffixed to the verb instead of a 3rd person
pronoun suffix. The connective is =5 before determinates (mostly proper nouns of
persons) and =% before non-determinates (most other nouns). A cluster-simplification
rule deletes the Determinate Marker (DM) € between the determinate connective (DC)
=S and a following consonant;7 if a connective is attached to a word ending in the
same fricative /S/ or /1/, only one fricative occurs phonetically.

8) yutW=¢ yiixk¥=s[t/Mary Mary is eating.

AUX=NCeat=DC [DM| M. Yukwhl! yuuzkws Mary.
O yuk” =2yl xkW=1 kik¥W-y My sister is eating.

AUX=NC eat= NC W's.sister-1S Yukwhi yuuzkwhl bigiigwiy.
(10) #2-naks=Is/lt/Péter Peter is married now.

now married=DC [DM] P. Hlaa naks Peter.
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(11) fa-ndks=t fka-1&"-mkdL-F My son is married now.
now married=NC child-ATTR man-1S Hiaa nakshl bigouvkigom gadiy.

2.a2. Transitive: the suffixed Absolutive argument (highlighted here) is the Object of
the verb; the Ergative argument is a clitic which precedes the predicate:

2a.2a. Pronounsonly:

(12) yuk¥ -na fimdom-t Iam helping him/her.
AUX ISERG help.s.-3 Yukw ni bhlimoomt,

(13) Fuk? -t imom-t S/he is helping him/her.
AUX 3ERG help.s.-3 Yukwt blimoome.

(19) yUBY -t Himo.m-y S/he is helping me.
AUX 3ERG help.s.-15 ‘ Yukwt hlimoomiy.

2.a.2b. Noun(s) present: The 3ERG pronoun is always present in the clause, even when
an Agent noun is also present.

2a2b.1. Twopouns: When two nouns, Agent and Object, are present in the clause, the

first one, which receives secondary stress, is the Agent, the second, which receives
primary stress, is the Object:’8

(15) yuk? -t dimé:m=s [t/ dcy t Méry Lucy is helping Mary.
AUX 3.ERG help.s.=DC[DMILDM M. Yukwt blimooms Lucy t Mary.

a6) put? -t imom=¢ handg=1f $kI-4W-F The woman is helping my sister.
AUX 3.ERG help.s.=NC woman=NC W's.sister-1S
Yukwt hiimoomhl hanak bl bigiigwiy.

2a2b2. Single noun: If only one noun is present in the clause, that noun is suffixed
to the verb through a connective; whether it is to be interpreted as Agent (the most
likely case) or Object is indicated by secondary or primary stress respectively:9

(0b) (17) yuk? -t Hmom=s [t/MEry  S/he is helping Mary.
AUX 3ERG helps.=DC[DMIM. - Yukwt blimooms Mary.
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(18) yuk"W ¢ fimOm=1 FFAW-F  s/heishelping my sister.
AUX 3.ERG help.s.=NC W's.sister-1S Yukwt hlimoombl bigiigwiy.

(Agt) (19) yukY -t Hmo.m=s [t/LdcF Lucy is helping him/her 10
AUX 3.ERG help.s-DC[DM] L. Yukwt hlimooms Lucy.

(20) yUBY -t imom=1 $kikW-F My sister is helping him/her 10
AUX 3 ERG help.s.-NC W's.sister-1S Yukwt Alimoombl hlgiigwiy.

It seems, then, that in the case of an Agent noun, the 3ERG pronoun which precedes the
verb is redundant, since it co-refers with the noun, unlike suffix pronouns which seem

to be in complementary distribution with sequences of connective + noun.

Jelinek considers that the ERG pronoun in such a case functions as an agreement
marker, rather than a pronominal argument: to consider the pronoun the argument
would mean treating the noun as an Adjunct, rather than a lexical argument, and this
would be an exception to what appears to be the normal argument structure of the
language (1986:10, 13).

2.b. Predicate-focused clauses: Predicate-focused clauses place extra emphasis on the
predicate, which occurs initially in the clause.1! They answer questionssuch as 'What

did X do (to Y)? What happened to Y?' With focused predicates there is no suffix
indicating the Absolutive argument.

2.b.1. Intransitive verbs: in predicate-focused clauses, intransitive verbs do not take a
suffix. When the verb is used by itself, it is understood to refer to a third person; a first
or second person Subject is indicated by an independent pronoun. A determinate noun
is not connected to the verb, but is preceded by a Determinate marker.

Q@ yuxd? iy late.

eat me Yuuzkw dify,
(22) yuxt?” S/he ate, 12

eat : Yuugkw.
23) puxt? t Mary Mary ate.

eat DM M. Yuugkw ¢t Mary.



(24) pUXE=¢ 24" -§
eat NC W's.sisterlS

My sister ate.
Yuugrkwhl blgiigwiy.

2.b.2. Transitive verbs: the personal suffix on transitive verbs--coming after the
Control suffix —9— --indicates the Ergative argument. 13

(25) #imdm-ass [t/L dcy t Mary

help.s.-CTL-DC [DM]L. DM M.

Lucy helped Mary.
Hlimoomis Lucy ¢t Mary.

(26) #imiin-o=f handg=1 f4AW - The woman helped her sister.

" help.s.-CTL=NC woman=NC w's sister

7 #imo.m-a=t ¢ Miry
help.s.-CTL-3DMM.

(28) #mom-o-t=F \4 #giaW-¢

help.s.-CTL-3=NCw's.sister

Hlimoomikl hanak bl higiikwt

S/he helped Mary.
Hlimoomit t Mary.

She helped her sister.
Hlimoomithl hlgiikwt.

If the Object is unmentioned, it is assumed to refer to a 3rd person:

(29) ¥mom-o=t
help.s.-CTL-3

(30) Hmom-a=s[t/L dcy
help.s.-CTL=DC [DM]L.

(31 ¥imim-a=1 handqd
help.s.-CTL==NCwoman

S/he helped him/her.13
Hlimoomit '

Lucy helped him/her.
Hlimoomis Lucy.

The woman helped him/her.
Hlimoomibi banak’

If the Object is a first or second person pronoun, it is indicated by an independent

pronoun, not a suffix:

(32) #mo:m-s-tily
help.s.-CTL-3 me

S/he helped me.

Hiimoomit niy.

Treatment of the Object in these cases are parallel to that of the Subject of the
intransitive verb in predicate-focused clause (1.b.1.),

|06



[o7

2.c. Treatment of 3 on 1/2: If suffix pronouns and nouns are in complementary
distribution, then it is puzzling to encounter examples such as the following
predicate-focused clauses, where the noun is added to a clause already including a
suffix pronoun indicating the Agent, after the independent first or second person
pronoun indicating the Object (coreferring elements are highlighted):

(33) #imdm-a-t iy t Licy
help.s.-CTL-3 me DM L.

(34) #imlm-o-tiHy=1 handd
help.s.-CTL-3 me=NC woman

Lucy helped me.
Hlimoomit diiy t Lucy.

The woman helped me.
Hlimoomit niiyhl hanak’

If the noun is plural, the suffix on the verb is still the same, never the 3PL suffix (cf.

4b2b.la.):

(35) #mom-o-t iy tip L dcy
help.s-CTL-3 me DMPLL

(36) Hmim-o-t il y=¥ ha-ndg
help.s.-CTL-3 me=NCwomen

Lucy 'and them' helped me.
Hlimoomit diiy dip Lucy.

The women helped me.
Hlimoomit niiyvhl haanak "

The noun is similarly added to the corresponding regular clauses, after the verb, which
ends in a suffix indicating the Object (in the regular clause, however, there isa
precedent for having a noun coreferring with the Ergative pronoun, see above

2a2b.l):

(37) yuk" -t imo.m-y ¢ L dcy
AUX-3ERG helps.-1SDML.

(38) yUKY -t Himom-y=1 handd
AUX-3ERG help.s.-15=NC woman

(39) yuk? -t Hmo.m-y tip L dcy
AUX-3ERG helps-1S DMPLL.

(40) yUY -t ¢imim-y=1 ha-ndq
AUX-3ERG help.s.-15=NC women

Lucy is helping me.
Yukwt blimoomiy ¢ Lucy.

The woman is helping me.
Yukwt hlimoomiyhl hanak .

Lucy 'and them' are helping me.
Yukwt hilimoomiy dip Lacy.

The women are helping me.
Yukwt hlimoomiykl hasask'.



Jelinek's interpretation is that a first or second person pronoun takes precedence over
lexical arguments, according to the hierarchy 1,2 > NP (1986:9).

3. Data showing the nog plementa J youn: A variety of data
show that pronouns and nouns cannot be considered complementary. In many cases
other than those in 2.c., the 3 suffix —U does show up in the presence of a coreferring
nominal: this occurs whenever there is no immediate contact between the pronoun
and a connective, either because of the presence of intervening morphemes (3.2.), or
because of a pause in delivery (3.b.).

Additional evidence comes from transcriptional irregularities in Boas 1902.16 There
are many cases where Boas only has the fricative /1/ instead of what would nowadays
be a sequence /t-1/: such deaffrication is frequent in the texts but seems to be
random, the result of careless speech; however, in a few examples the sequences
/t-1/ and /t-S/ occur where modern speakers would have only /1/ and /S/: the
pronoun and the connective occur together on the surface, probably because of very
careful pronunciation (3.c.): in these cases, it isthe modern pronunciation that is the
result of generalized deaffrication.1”

All these examples show that suffix pronouns and sequences of connective + noun are

not complementary, so that the presence of the pronoun must be recognized in all cases
at a deeper level of structure.

3.a. Suffix pronoun and connective separated by additional morphemes:

3.a.1. Additional suffixes: Additional suffixes such as evidential postclitics or the
comparative suffix —1: 'like..' ..Z/ can occur between the pronoun suffixed to the
predicate,b and a following connective. These additional suffixes prevent contact
between a /{/-shaped morpheme such as the 3 suffix pronoun and the non-Velar
fricative of the connective, so that affrication does not occur and those phonological
elements remain distinct on the surface.

3.a.1.a. Evidential postclitics: Evidential postclitics add sentential meanings such as
Dubitative, Reportive, Interrogative, Assertive, Distal, and others (T 1984). Some of the
postclitics have more freedom of occurrence than others; a few are always attached to
the predicate, after the suffix pronoun, which appears on the surface even when there
is a co-referring noun in the clause.
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3.a.1a.1. With intransitives: (regular clause examples):

- Examples with pronoun only: the postclitic is added after the pronoun:

(41) a2 naks-t S/he is married now.
by.now married-3 Hlaa nakst.
(42) g ndks-t==a? S/he is married now! (befieve it or not)
by.now married-3==ASST Hlaa naksda's!
(43) fandks-t==(a)ma? S/he is probably married now.
by.now married-3==DUB Hlaa naksdima s.
(44) #2ndks-t==qatl® I hear s/he is married now.
by.now married-3==REP Hlaa nakst-gat.
es with bo onou oun: the noun, preceded by the appropriate

connective, occurs after the postclitic, which is preceded by the suffix pronoun:

(45) fa-naks-t==a?=s /[t [Peter Peter is actually married now!
by.now married-3==ASST=DC [DM] P. Hiaa naksda ‘as Peter/

(46) fa-7ndks-L==a?=F #UkW-mkat-y My son isactually married now!
by.now married-3==ASST=NC child-ATT man-1S Hlza natsds skl hlguuhigum gadiy/

(47) #4-74ks-t=—0ma?=s/t/[PeLter Peter is probably married now.
by.now married-3==DUB=DC [DM] P. Hlaa naksdima ‘as Peter.

(48) #a-ndks-t==(3)ma?=¢ #u - W-mkat-tit
by.now married-3==DUB=NC child-ATT man-3P

Their son is probably married now.
Hlaa naksdima shl higuvhigum gatdiit

With the Reportive postclitic ==(atl -ga¢, contact with the fricative of a following
connective causes deaffrication, always in the case of the determinate connective =S,
optionally, especially in rapid speech, for the non-determinate connective =% ..4/:
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(49) fa-ndks-t==qalt/=s/t[FEter  1hear Peter is married now.
by.now married-3==REP-DC [DM] P. Hlaa nakst-gas Peter.

(50) #2:ndks-t==qalt/=F¢ku kW -mkat-tit
by.now married-3==REP=NC child-ATT man-3P
I hear their son is married now.
Hlaa nakst-ga(t)hl biguuhigum gatdist

These facts suggest that the overt absence of the suffix pronoun before a connective is
attributable to phonological causes, namely the rule of Deaffrication which is also

attested in other cases, and that the suffix is indeed present below the surface, thus:

(51=10) #a-ndks-Lt/=[slt/Peter Peter is married now.
by.now married-(3]=DC{DM]P. - . Hlaa naks Peter.

(52-11) #3-08kS-[t/=F ¢k kW -mkdt-F My son is married now.
by.now married-{3)=NC child-ATT man-1S Hlaa natshkl higuuhigum gadiy.

The same structure occurs in this example from Boas 1902:

(53) #a:Liki- kWild/~t=(a)ma?=1 #0g5 After about three months.. (170.13)

now about three-3==DUB=NC month Hlaa Ilklk'gwﬂal}lila akl hioks..
(compare:
(54) fa- kWild/-[t]=# #ogs - After three months..

now about three-[31=NC month Hiaa gwilalbl hloks..) .

In Boas 1902, the postclitic ==K1: -g7 seems to prevent the occurrence of a connective
in most cases (cf. 3.a.1.a.2.a./b.); modern usage does have the connective with the
postclitic;

(55) Zi{t/=¢qanhi-t==ki-sim704it t kUS/t/ That'swhy that chief said:..(33.13)
it=NC therefore say-3==DISTAL chief DM that A&/ £an hit-gi sim oogit tgust ..

(compare the modern equivalent without the postclitic:
(56) Zi{t/=2qanbi-[t/=# sim?okit ¢ kus/t/ That's why that chief said:..
it=NC therefore say-[31=NC chief DM that Mb[;.m Libl sim oogit igust.. )

10



3.a.1a2 Vith transitive verb:

3.a.l.a2.a. [n Predicate-focused clause: Again,the occurrence of the suffix pronoun
before a postclitic suggests that it occurs in all cases and is only deleted by a surface

phonological rule:

(57) ¥mom-a-t==(3)ma?
help.s.-CTL-3==DUB

(58) fimom-o-t==qat
help.s.-CTL-3==

(59) mim-a-t==(a)ma?=s(t/L Ucy
help.s.-CTL-3-=DUB-DC(DMIM.

(60) #mom-a-t==a?=s{t/Lucy
help s.-CTL-3==ASST=DC[DMIM.

(61) #mom-o-t==qalt/=gt/L ucy
help s.-CTL-3=-REP-DC [DM]M.

(62) #mbm-o-AtI=s/t/L ucy
help.s-CTL-3=DC [DMIM.

(63) Lim?and q-o-t==oma?r=s/thox-y
FUTlike.s.-CTL-(3]==DUB=DC [DM! mother-1S

(64) sim?anc-q-o-lt/=s/t/nox-y
really like.s.-CTL-[3]=DC [DM] mother-1$

S/he probably helped him/her.
Hlimoomidima s

[ hear s/he helped him/her.
Hlimoomit-gsat.

Lucy probably helped him/her.
Hlimoomidima as Lucy.

Lucy did help him/her!
Hlimoomida as Lucy!

I hear Lucy helped him/her,
Hlimoomit-gas Lucy.

Lucy helped him/her.
Hlimoomis Lucy.

My mother will probably like it.
Dim anoogadima ‘as nooy.

My mother really likes/liked it.
Sim anoogas nooy.

In the following example, the postclitic ==K1: -g7 again prevents the occurrence of a

connective: (cf. above 3.a.1.a.1.)

(65) LUx™ Wa~(y)o-t==kI-7a.1ma: Wi[D==ki: Again he reached a fine house (48.3).
again find.s.-CTL-3==DISTAL good house==DISTAL Huxw wayit-gi amaa wilp-gi.



3.a.1a2b. In Regular clause: the suffix pronoun indicating the Object occurs before a

postclitic, whether or not there is a noun, and whether the following noun is Agent or
Object:

- pronoun onlx:

(66) 221--L—¢ #mo:m-t S/he didn't help him/her.
not-INTS-3ERG help.s.-3 Nidiit hlimoomt.

(67) nl-ti-¢ Hmom-t==qat I hear s/he didn't help him/her.
not-INTS-3ERG help.s.-3==REP Nidiit hlimoomt-gat. o

- with Agent aoun:

(68) 22/~Li~t HmOm-t==qalt/=8/t/L Ucy 1hear Lucy didn't help him/her.

not-INTS-3ERG help.s.-3==REP=DC [DM] L. Nidiit blimoomt-gas Lucy.
(69) 22/~¢i~t Hmom-[t]=s(t /L dcy Lucy didn’t help him/her.

not-INTS-3ERG help.s-[3]=DC [DMIL. Nididt hlimooms Lucy.

- with Object noun:

(70) 72/-~L1~¢ HmO-m-t==qalt]=s/t/L icy 1hear s/he didn't help Lucy.

not-INTS-3ERG help.s.-3==REP=DC{DMIL. Nidiit Alimoomt-gas Lucy.
(71) ni~ti~t Hmom-(t1=st/L lcy S/he didn't help Lucy.
~ not-INTS-3ERG help.s.- {3]=DC [DM] L. Nidist blimooms Lucy.

-

In the following example, the phrase AW ilgfa-Iiti-t==ki 'all of them' gwilka
didiit-gr functions asa noun-phrase which is the Object of the verb (note that herea
connective is used after the postclitic ==K1: -¢7, unlike most other Boas examples,
3a.lal/2a):

(72) Zilt/=¢ki~tlax)d Gal-t==ki- # KWilGaditit==ki
it=NCand-3EPL)examine s.-3==DIST NCall them==DIST
Then he examined them all (144.13).
Nib! kit Jaxlaak slt-gikl gwilk 3 didift-gi
12



3.a.1b. With comparative suffix -1: : this suffix is used especially in the expression
Wi _ -1: wit.if 'looking like .. in this expression the final /t/ of Wit is deleted
before the connective =% .47

The following example occurs with an intransitive verb in a regular clause: the suffix
pronoun occurs before the comparative suffix: compare with and without the suffix:

(73) WIlLEE ikl tim tfa=307-t-i=# harifa-tkin
. =NC about FUT flat-slide-3-..=NC chair DM this
This chair looks like it's going to collapse.

Wit/ ligii dim t& aahlo odiihl hadiit aa igun.

(74) #a-tim tda=¢67-1t/=# hanita-tkon This chair is going to collapse.
now FUT flat=slide-[3]=NC chair DM this Hlaa dim (§ aallo o&l hadiit aa leun.

(75) fa: tim tga=907-t It's going to collapse.
now FUT flat=slide-3 Hlaa dim t& aahlo ot.

cases, other clause constituents can or must occur between the verb and a following

nominal; in these cases too, the suffix pronoun does occur on the surface, as there is no
connective linking the intervening constituents to the predicate. (In the following
examples, coreferring items are highlighted).

3.a.2a. Betwee intransitive ver ject noun: In the following example, a
circumstantial complement occurs before the Subject noun:19

(76) wapkWitkina=tox-t 7a=¢ ililx txa-oitis-{t/-ftxix
Well! about left-lie PL-3 PREP=NC up.the hill all-[3]=NC halibut
Well, all the halibut being left at the top [of the beach] .. (70.7-8)
Way kw'ibl ginaadoxt abl gililx, txssditkwshl tyox._

3.a2.b. Between a transitive verb and its Object: The following example includesa
focused coordinate noun-phrase, the components of which are separated: normally
only the first component of such a phrase occurs in the initial, focused position, and
the second component occurs later, after the preclica,t,e.20 Here the coordinate
noun-phrase is the focused Agent; the first component of this phrase occurs in initial

13
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position, the second occurs after the transitive verb, which has a suffixed pronoun

Object; the headless relative clause which corefers with this pronoun occurs after the
second half of the coordinate noun-phrase.

(77) ksax kunicict rankip-t -- gan=¢ fku kWe-7-m tku-LEIHEY —-
only little grandmother 3ERG REL ERG eat.s.-3 -- and=NC little poor-ATIR little-child
fo wd-(yla-[t/=1 ga-q 7a=+ hi-tukW tdwit==ki
the?! find.s.-CTL-[3]-NC raven PREP-NC morning early==DISTAL

Only the little granny and the poor boy ate what the raven had found that morning
(lit. only the little granny ate it, and the poor boy, [what] the raven ..) (152.10-12).
Ksax higu nits iits' t an gipt, ganhl hlgu gwee em higuik thikw, Bli vayikl gask
abl biiblukw davibkl-gi.

swhere the pronoun occurs inste X d connective: In a number of
instances in Boas 1902, the pronoun occurs where one would normally expecta
connective, before a non-determinate noun; this is probably because of a pause in
dictation at that point,z2 since there are many more examples when a connective does
occur. The examples given in this section all have a connective in modern usage.

3.b.1. Examples with Transitive verb: the connective is lacking between verb and
Object.

3.b.1.a. Regular clause: Usually, a single noun is.more often the Agent than the Object
(cf. note 9), but in the examples in this section, a single noun seems to be most often the
Object rather than the Agent: note that these examples are chosen here because they
do not have a connective between verb and noun: this is more likely to happen with an
Object noun than with an Agent noun (cf. note 22).

3b.1a.1. Regular clause, nominal Ageat:

(78) Zil/t/=21it [t/ qgan wild kW -T-tiaxha==ki:
it=NC it [3ERG] therefore treat.s.-DEF-3 heaven==DISTAL =
That's why Heaven treated them that way (96.2)
Nibl dit gan wilaagwit laxha-gi
(modern: ..wilasgwibl .. )
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3.b.1.a.2. Regular clause, Nominal Object:

(79) FI/t/=2 kit willin-thé~[t/=¢hands
it=NC and-3ERG cause s.-3 saying-[3]=NC woman
Then he did what the woman had told him to (129.15).
Nib! kit wilt int heeh! hanaf.' (modern: ..wiltinhl..)

(80) #a- HskW-Lski-t thu laxW 7a=2{ga-ke w-o/-/t/=¢wilp

now finished-3ERG place s.-3 little trout PREP-NC[..-below.house-..]y gsT-[3]=NC house
.. after he put the little trout on the beach below the house (151.8).
hlaa bliskwt sgit hlgu laaxw abl gageewih! wilp. (mod: .sgibl.)

(81) ZH/E/=Fki~tlu=hsqaldn-(t)T-t 7e-7elk W -mlbrop==ki
it=NC and-3ERG in-last-DEF-3 red-ATIR stone==DISTAL
He threw the red stone last [and hit the target] (140.10).
Nibl £ iit luuksgalaandit ihlee etgum lo op-gi
(modern: .. /uuksgalaandihl. )

(82) Ki—LkU~[t/=qdn --ki~t qimgan-€ wi-?amhdc
and-3ERG take.s.-[3]=NC stick -- and-3ERG pry.up.s.-3 big uprooted.tree
He took a stick and pried up the uprooted tree (55.11-12).
Kt guubl gan, £ (1t gemgant wir amhaats’
(modern: .gemgankl. )

(83) 72k U me qancad-t 1o 7o cap-a-§
what? 2ERG therefore eat.up.s.-3 fish the make.s.-CTL-1S
Why did you eat all the fish [ prepared? (118.3)
Agu ma gan jablt hoon hli jabiy? (mod. . ja2hl.)

(84) 2 -nocak W-r-t wi-likiisk™  1just killed the big grizzly (119.5),
PROG 1S ERG kill s.-DEF-3 big grizzly Yukw ni jagwit wis lik igskw.
(modern: ./jagwihl.)

(85) ZI(L/=2 kit walx-LkEx W -T-(t/=# 4k uci Crantahase x-(t/=s/t/iik
it=NC and-3ERG carry.s.on.back-3 1[animall-DEF-[3]=NC littlr bird rattlebox-[3]=DCIDM]T.
15



One little bird carried Ts'ak's rattlebox (124.12).
Nib{ & Gt walxt k'eegwib] higu ts vuts andahaseeys Is ak

(here note the absence of connective between the Agent and Object noun-phrases as
well; modern: Nib/ kit walthl & eegwill bigu ts uuts bl andahaseexs Is ak).

(86) fa-gota-[t/-¢kin-t xska k=2 sku-wilksitkW
now gone.PL-[3]=NC give food.to.s.-3ERG eagle=NC little-prince
Now the eagles had stopped bringing food to the prince (179.9-10).
(lit. now what [food] the eagles had been giving the prince was gone).
Hlaa goodabl gint xsgaakhl higuwilksiblkw. (modern: .. ginkl. )

3.b.1.b. Predicate-focused clause:
- nomi A t:

(87) ZI/t/=¢ it simydxkW-a- fku kW e-P-m dku-tkIW ¥ min-/t/=¢ wi

gan==i- , .

it=NC it really follow.s.-CTL-3 little poor little-child the base-[3]=NC big tree==DISTAL
The poor boy headed right that way, towards the base of the huge tree (147.10—1 1).
Nibil Bi¢ sim yoxgwit bigu gwee em bigutk ﬁjtw, bli milnhl Wii gan-gi.

(Here the second fiit 'it’ is the Focused Object of the transitive verb and would also be
followed nowadays by the non-determinate connective, causing deletion of the /T/:
Nibl Bibd sim yoxgwibl ..).

- nominal Object:

(88) dixMisaran-/a/t sa-lit-t==ki-  He had finished making his wedges (148.5).
PL)inish s.-(CTL]-3 make-wedge-3==DIST  Hlixhlisa ant silitt-gr.
(modern: Alixhlisaanthl.)

(89) psa-naxnog-o-t tgu kWe-r-m tku-tkIk"
self make-supernatural being-CTL-3 little poor-ATIR little-child
The poor boy had acquired supernatural powers on his own/..had made himself into a
supernatural being (152.6). Lip sinaxnogat higu gwee em hlgutk ihlkw.
(modern: .. sinaxnogabl ..)
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3b.a.4. Examples with transitive verb and Object clause: compare the following
parallel sentences occurring on the same page: two have the connective, one does not
and the pronoun occurs overtly instead:

(90) Zi/t/=FkituxW -t kG P-LE]=Fwil kina=tox-[t/=FclxW
it=NC and again-3.ERG see.s.-[3]=NC SUB left=lie.PL-[3]=NC porpoise
Then again he saw that there were porpoises left [on the beach] (167.5).
Nibl ki huxwt La alkl wil ginaadoxhl jiixw.

(91) ZHi/t/=2&i~t hux™ k&7-€ wilkina=ski-(t/=#tipin
it=NC and-3.ERG again see s.-{3]=NC SUB left=lie-[3]=NC sealion
Then again he saw that there was a sealion left [on the beach] (167.7-8).
Nibl kit huxw ga '3t wil ginaasgibl tibin.

(92) Zi/t/=FKi~tkd?-[t]=F wil kina:=ski-[t/=2 Wi-2pin
it=NC and-3ERGsee.s.-[3]=NC SUB left=lie-[3]=NC big whale
Then he saw that there was a big whale left [on the beach] (167.11).
Nib! kit ga ahl wil ginaasgihl wii hlbin.

Some other examples with clause Objects are:

(93) fa-tnaxid-t pagatil-t/=¢ ¢ki-1t/=# # -2k W -t==k1;
by.now-3ERG hear.s.-3 twolpersons]-[3]=NC children-{3]=NC child-3==DISTAL
.when he heard that his daughter had two children (162.10).
lrlaat naxnat bagadilh! higihl higuuhlkwt-gi .
(modern: ..naydakl.)

(94) KI~LGaq-T-t willu=qac-{t/-¢ 73k s==ki"
and-3ERG open s.-DEF 23_35UB in=[liquidlbe-{t]=NCwater==DISTAL
..and he opened [the container] where the water was (26.13).
Kt kagat wil luugatshl aks-gi. (modern: . Lagahl.)

3.b.2. Examples with intransitives in regular clause: here the connective is lacking

between verb and Subject:

(95) wild-x-Litii-t ¢ wi kat They knew that he was Giant (16.2).
know.s.-3P that's-3 DM big man Wilaaxdiit dit (t) Fif Gat (mod: ..4it/d1s.)
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(96) 7/t /=F ki -haksimbux ¥ yé-tnid c-[t/=(s It sk
it=NCand again again go-3 grandmother-[3]=[DC] [DM] Ts'ak
Then Ts'ak's grandmother went again (124.3-4),
Nihl &'ii hak sim huxw peet nits'iits' Tsak.
(modern: .. yeesaitsiits' ..)

(97) Zilt/=2Ei-kiSHECK W -E Wi-hilt- m k3L Then lots of people landed (185.7). -
it=NC and PL)land-3 great-many-ATIR people  Nik/ ki k isk atskwt Withildim gal
(modern: ..k&Jiskatskwhl.)

(98) Z5i/t/=F kit Iu=magsaran-t 7a=F wilsafT-t wi-qan
it=NC and-3ERG in-place.s.PL-3 PREP=NC SUB cracked-3 big tree
Then he put them [the wedges] ek in the crack of the big tree (148.12-13).
Nibil kit lvumaksa aat abl wil saf at wir gan-gi.(modern: . wil/safabl. )

(99) Z/t/=FKi-hux® mithk W - hux™ Eil-(t/=¢ wilp
it=NC and again full-3 again one-[t}=NC house ,
Then one more house was full (158.6).
Nib! ki buxw mitkwt huxw kilpl wilp.
(modern: ..mikwhl.)

(100) 74.1m=¢ tLim 7tk Ws-£ tim wa-¢ He should receive his name (165.1).
g00d=NCFUT called-3 FUT name-3 (lit. his name should be called)
Aambl dim rtkwst dim wat.
(modern: ..skwshl..)

(101) kd7-a-twikaqa=hislydckW-t fo ta-w-[L/=1 sqgalilsT==ki
~ see.s.-CTL-3 SUBacross=PL)chopped-3 the ice-{3]=NC mountain==DISTAL
He saw that steps had been chopped across the glacier (202.6-7)
(1it. .. that the ice of the mountain had been multiply chopped across).
Ga at wil jagahisvaiskwt hlf daawhl sganist-gi :
(modern: jagatisyatskwhl. )

3.b.3. Examples with higher predicate introducing an intransitive clause: in this case a

higher predicate is normally followed by a non-determinate connective, except before
‘the Irrealis particle C9 /7
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3.b.3.a. Cases which would normally take a connective:

(102) #a-clsk-ELtim wil idw-[t/=¢ 7ax"¢
now little-3 FUT SUB die-[3]=NC porcupine
.. just before the porcupine was going to die (76.6-7)
hlaa ts yuskt dim wil duvhl axwt ..
(modern: .isuvuskhl.)

(103) Zi/t/=2ki-tBak W -t wiyitk W -¢ Then he cried for a long time (90.3).
it=NC and long-3 cry-3 Nibl & ii dakwt wiyitkwt
(modern: ..a4kwhkl.)

(104) Lawin-kirigk"-£ #ita: ypiakWsa  Notlong after dark .. (156.4-5).
not.yet-INTENS long-3 since evening Hawingii nakwt hlidaa yukwsa ..
(modern: ..Addkwhl..)

(105) Zi/L/=1 kI 12 gO-q-£ tim mik W -(t/=¢ma j
it=NC and the in front-3 FUT ripe-[3]=NC berries
Then before the berries were ripe.. (206.5).
Nihi & ii hia gookt dim mukwh! masy ..
(modern: .. gookhl.)
(here the higher predicate is a possessed noun and the clause is its ‘possessor’)

(106) #a: Witis-t wil sa=tkikWakW -[t/~¢kWis-qana-w-t==k/
now great-3 SUBoff-inert-[3]=NC garment-frog-3==DISTAL
He was now having great difficulty taking off his frogskin [that he wore underwater] /
His frogskin was getting very hard to take off (163.15).
Hlaa wiit ist wil saahigukwskwhl gwilsganaawt-gi
(modern: ..wiitishl.)

3.b.3b. Before the Irrealis particle CO /7: no connective is ever used with this

particle, so that the 3 suffix appears on the surface in cases like the following:

(107) 727~k /:Ski-E co tim kip-a-[t/=¢ tki W -t /=Fim 70 kit
not-INTENS be-3 IRR FUR eat.s -CTL-[3]=NC child-[3]=NC chief
The chief's daughter didn't have anything to eat (146.2).
Nigii sgit ji dim gibihl higuuhlkwhl sim vogit.
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However, the contact of final /t/ with the initial /C/ of the particle causes coalescence
into a single segment /C/, and present-day speakers do not perceive a final suffix. The
modern equivalent of this example is written: Nigif sgr/i.. Another modern example is:

(108) gls-e-y netim wé-(t/ce wilmaxkW -y
can't-CTL-1S 1S ERG find.s.-[3] IRR SUB ride-1S
I couldn't find a ride (..[someone] to ride with).

Gosiy ni dimwa /i Wil maxgwiy.
3.c. Cases where deaffrication does not occur:

The Boas texts contain many instances where only a fricative is noted, where a modern
speaker would have a /t/ + fricative sequence. As these instances appear to be random,
they may be attributable to a very weak pronunciation of the /t/ before fricative,
especially after unstressed vowel. As Boas's consultants seem to deaffricate more than
present-day speakers (e.g. after the 3P suffix -U1:t.. i, 3.c.1b.2.), the few cases
where they do not deaffricate, probably as a result of particularly careful enunciation,
are particularly noteworthy.

3.c.1. Regular clause:
3.c.1.a. Yith intransitive verb:

(109) Zi/t/=2kiluyalth W -t=5 [t/C3k  Then Ts'ak wentback .. (121.1).
it=NC and return-3=DC [DM] Ts'ak Nitl £%f luyyalikwts Tsak .
(modern: . Juuypaltkws..)

(110) fa: fexkW-[t/=s/t/Ck - simCEx-L=s [t Fak
by.now finished eating-[31=DC [DM] Ts'ak - really satiated-3=DC [DM] Ts'ak
When Ts'ak had finished eating and was really full .. (128.6-7).
Hlaa hloexkws Tsak, sim tseexts Isak ..(modern: .lsooxs..)

(111) ?a-bux®sild theWs-t=4 bi-(t/=2kupa-t Ktk W ==t/
now again begin-3=NC saying-[3]=NC little PL-child==DISTAL
.. the children had started to talk [loud] again (98.15- 16)
hlaa huxw sit aatkwsthl hikl! k ubatk ihlkw-gi
(modern: ..sit satkwshl ..)
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3.c.1.b. With transitive verb:
- after 3 suffix:

(112) ... Zdlkax-[t/=2kOI-[t/=F kAL Pa=s(t/Ck -t kW -t=5 [tHdk
speak-[3]=NC one-[3]=NC man PREP=DC [DM] Ts'ak -- 3ERG call.s.-3=DC [DM] Ts'ak
.. one man spoke to Ts'ak, calling Ts'ak's name ..(120.6)
. algaxhl &k yooll! gatas Isak, t itkwis Isak ..
(modern: ..7kws..)

(113) Zi/t/=Ski~tranks=ksldqs-t=s [t/iak Wi-gdn
it=NC and-3ERG opening=kick s.-3=DC [DM] Ts'ak big tree

Then Ts'ak kicked open the big tree [in the crack of which he was wedged] (134.2).

Nibl & Git ankskslafsts Ts ak wii gan.
(modern: ..ankskslaks ITsakhl ..)
(note here also the missing connective between the Agent and Object nouns).

- after 3P suffix: In the following two cases, the determinate connective would not
be used in modern Nisgha after the 3P pronoun suffix —t1:U..4/i, which corefers with
the Ergative pronoun; its use here represeats an exception to the normal usage of Boas'
consultants but may represent an older usage (see below 4.b2.a.):

(114) [i/t/=2wil-ttdal=ta-tdkI-tit=s [(Ldk
it=NC SUB-3 against-DOM-binding-3P=DC{DM] Ts'ak
They had Ts'ak tied up there (120.11).
Nih! wilt th aldidakhldiits Ts'sk .
(modern: .4k aldidakhldiit (1) Tsak.)

(115) ZI/L/=2ki~tsa=kii~tit=s [tAGk Then they took Ts'ak off (120.15).
it=NC and-3ERG off-take s.-3P-DC [DM1 Ts'ak  Ni&/ £ irt saaguudiits Ts ak.
(modern: ..seaguudiit (¢) Tsak.)

3.c.2. Predicate-focused clause: the following examples are of transitive verbs
followed by nominal Agents:

(116) K72 s W-T-0-t=5 [t/ Gk ¢ #ku gamt-m i670p
about hold.s.-DEF-CTL-3=DC [DM] Ts'ak NC little firestarter-ATTR rock
21
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Ts'ak was carrying a strike-a-light about him (118.9).
Kwihl! yukwdits Ts akhl hlgu gamdim lo op.
(modern: . yukwdis..)

(117) puk? -T-o-t=1 #hu-tE#%"W # gan The child was holding a stick (125.4-5).
hold.s.-DEF-CTL-3=NC little-child NCstick = Fukwdith! higutk ihlkwhl gan.
(modern: Yukwdihi..)

4. Pronominal arguments nominal adjuncts: The data in section 3 show that suffix
pronouns are not truly in complementary distribution with a sequence of connective +
noun. Where the deaffrication rule either cannot or does not operate (for whatever

reason ), suffix pronouns do occur on the surface, in the same clause as coreferring
nouns.

If there is no complementary distribution of nouns and suffix pronouns, and the
presence of a 3rd person suffix must be assumed in all cases, then the pronoun is the
argument of the verb, not the noun, which is only an adjunct. This section presents
yet other evidence supporting this interpretation.

If one accepts that Nisgha arguments are pronominal rather than lexical, the case of
the 3ERG pronoun which must occur even with a noun (2.a.2.b. above) is no longer
isolated, since the 3 suffix pronoun also must occur, and the case of 1st and 2nd person

pronouns is no longer to be considered apart from that of 3rd person pronouns or of
nouns.

4.a. Additional evidence for the Adjunct status of coreferring nouns:

4a.1. Reverse-order transitive constructions: In the great majority of cases, nouns
coreferring with pronouns occur in the same order asthe pronouns, i.e. the Agent
noun precedes the Object noun in the same way as the preverbal Ergative clitic
pronoun precedes the Absolutive suffix pronoun, but there are a few exceptions in
which the order of nouns is reversed. That the order of nouns can be reversed, not that
of pronouns, supports the identification of nouns as simply adjuncts to the pronouns,
which are the arguments (cf. French examples above, (3.a-f)).

4.a.1.a. Normal noun order: nouns coreferring with pronouns normally occur in the
same order as the pronouns: Ergative first, Absolutive second.
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- in regular clause:

(118=15) pUKY -t imom-[1/=s [E]L ey ¢ MAry Lucy is helping Mary.

AUX-3ERG help.s-(t]l=DC{DM]L. DM M. Yukwt hlimooms Lucy ¢ Mary.
- in predicate-focused clause:

(119:25) #mi-m-a-[t/=s{t/L ucy t Mary Lucy helped Mary.
help.s-CTL-[3]=DC [DM] L.DM M. Hlimoomis Lucy t Mary.

4a.1b. Reverse noun order: In most of the examples available, this reversai occurs
when the verb is hilk aXx tobe like s.' Augar: when the nominal Object of this verb is
inanimate, it usually follows the verb, and the nominal Agent comes last. Stress
depends on the function of the noun, not its position: asin the majority of clauses, the
Object here receives primary stress, the Agent secondary stress (cf. above 2.2.2.):

4a.1.b.1. Predicate-focused clause:

(120) fidkax-a-[t/=2 4E  gan==ki- They used a stick as their ball%% (95.2),
be.like.s-CTL-[3]=NC ball NC stick==DISTAL = Hugaxah! hlit h! gan-gi.

(121) hukax-o-tlimx-ti # ii-t==ki
be like.s..-CTL-3 sing-INDEF NCsay-3==DISTAL
When he said it it sounded like singing (54.1-55.1).
(lit. his saying sounded like ..)
Hugaxat limxdiih! hit-g1.
(note here the lack of a connective between the verb and the Object, cf. 3.b.1b.).

When one of my Nisgha-speaking co-workers and I were going over a story in which
the following sentence occurs:

(122) kat=4ma l==ki The canoe was a person (i.e. had a life of
man=NCcanoe==DISTAL itsown)(106.13). Gath/ naal-g:.

she added a word to the sentence to read:
(123) hlkax-o-[t/=#kat=24ma 1==k1 The canoe was like a person.
be.like.s.-CTL-{3]=NC man=NC canoe==DISTAL Hugayah!gath! maal-gr
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As written, the new sentence could be interpreted as: ‘The man was like a canoe’, but

the stress pattern has primary stress as usual on the Object noun, which here precedes
the Agent (compare above 2.a2.2.,2b.2.).

4.a.1.b.2. Regular clause:

(124) 27/t /=#Ki~t hilkax-(t/<dsma-win #aqam-2albiksk V-t 2a=¢ Jaltux

it=NC and-3ERG be like.s.-[3]=NC maggots the refuse-whittling-3 PREP=NC horn.spoon
What she was whittling off the horn spoon looked like maggots (8.9-10).
Nibl kit hugaxh! smaavwin bla gamhlalbikskwt ahl k alduur.

Other verbs can also occur in this construction, as in:

(125) Filt/=2ki~Ltsa=L0g-t/=27amalk W -m Lim=28 1 -L KO1-t==k/;
it=NC and-3ERG off-scratch s.-[3]=NCscab-ATTR shin-3 onelperson]-3==DISTAL
One of them scratched off a scab from his shin (36.7-8).
Nihi & iit saat'okhl amalgum timhlzamt & yooll-gi.

4a.2. Possessed nouns: Possession is indicated by the same personal pronoun suffixes
as are used as Absolutive arguments of verbs. A possessed noun can be used as a clause
predicate, as well as non-predicatively. Some details of a clause in which the predicate
is a possessed noun are shared with transitive constructions and throw further light on
the argument/adjunct structure.

4a2.a. Suffixation: in possessive noun-phrases, the conditions of occurrence of
personal suffix or connective + noun are the same as with intransitive verbs, and
evidential postclitics can also be added after the suffix:

(126) Wilp-F 'my house’
house-3. wilbiy

(127 wip-¢t ‘his/her house'
house-3. wilpt

(128) n0x-L 'his/her mother'
mother-3 " noxt
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(129) 7OxL==a27 'lit's] his/her mother!'
mother-3==ASST noyds s

(130) 20X -L==a?=s [t IMiry '(it's] Mary's mother!
mother-3==ASST=-DC[DM]S. noxda ‘ss Mary/!

so the suffix pronoun must occur also in:

(131) n0x-[t]=s/tMéry 'Mary's mother’
mother-[31=DC [DMIM. noxs Mary

In Boas 1902, the postclitic ==K1: -¢7 seems to prevent the occurrence of a connective
between the two nouns (cf. 3.a.1.a.1./2.a.; modern usage does have the connective as
well as the postclitic):

(132) Wilp-t==ki- Sim?0-kittkuslt] ‘the house of that chief' (25.2.)
house-3==DIST chief DM that Wilpt-gi sim vogit Lgus

(compare without the postclitic:

(133) wilp-t]=¢ sim?kittkus/t/ 'the house of that chief
house-[3]=NC chief DM that wilphi sim vogit tgus)

If there is no =S connective before a determinate noun, the determinate marker (DM) t
is present on the surface as well, just before the noun:

(134) LUshawtt=¢ wil-t==ki-L (X¥EIns/ Tzeemsim pretended to be dead
pretend.to.be.dead=NC act-3=-DISTALDM T. (65.11). (1it. T.'s act was to pretend..)
Hisduwikwhl wilt-gi t Txreemsim.

(Compare without the postclitic, therefore with the connective:

7 7

(133) Lusttiwt#'=¢ wil-ft/=s{t/txemsim Txeemsim pretended to be dead.
pretend.to.be.dead=NC act[3]-DC [DMIT. Hisduwtkwhl! wils Tyeemsim)
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4.a.2.b. Possessed noun as clause predicate:

4a2b.1. In predicate-focused clause: In terms of morpheme and word order, some
predicate-focused clauses with nominal predicates behave exactly like transitive
constructions (2.6.2.).25 In particular, in both types of constructions a noun
coreferring with a suffix pronoun occurs after an independent 1st or 2nd person
pronoun (2.c.). This shows that the Ergative role is not the only one for which the
pronoun can corefer with a noun. ‘

(136) #ei-¢k W=t iify Iam his/her son/daughter.
child-3 me Higuublkwt dify.

(137) 2kd-2k W=t [l 7 t Mary I am Mary's son/daughter 26
child-3 me DM M. Hlguubikwt niiy t Mary.

(138) Sidki-24Ws-t !f/fj; A Ma‘ry Mary adopted me.
adopted.child-3 me DM M. (lit. I am Mary's adopted child)

Sihlguublbkwst aiy t Mary.

(139) 7ansi¥ateV -t ily # lip wak-y My own brother makes fun of me.
cause.of fun-3 IND-1S NC self M's.brother-1S (I am my brother's laughing-stock)
Ansgwatkwt niyhl lip wagiy.

Where there are two nouns, the first one is linked to the predicate by a connective and
corefers with the pronoun, as in a transitive predicate-focused clause (2.a.2.b.), but the
stress pattern is opposite:

(140) 2Ltk W-[t/=s[t/MEry ¢ [ dura Laurais Mary's child.
child-{31=DC [DM]M.DML. Higuublkws Mary t Laura.

(141) 7anst¥atk?-[t])=4lip wak-t ¢ tku-wilksiteV
cause.of fun-[3] =NC self M's.brother-3 NC little-prince
His own brother was making fun of the prince.
(The prince was his own brother's laughing-stock)
Ansgwatkwhl lip wakith! hlguwilksihlkw.
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4a2b2. In regular clause: here transitive and nominal predicate constructions
differ: the nominal predicate keeps its suffix pronoun, and the suffix pronoun is
attached to the Indirect pronoun base 10:— /0.. This construction is not restricted to
Ist and 2nd person pronoun, but also occurs with 3rd person pronouns. However,
coreferring nouns occur after this phrase, as they do with transitives.

The following is a regular clause analogous to the predicate-focused clause (141):

(142) Zi(t/=2ki 7ansk WaLtk" -t io—7 lip wak—F
that's=NC and cause.of fun-3 IND-1S self M's.brother-1S
| Then my own brother was making fun of me.
Nikl & ii ansgwatkwt looy lip wagiy.

In the following example, the 3rd person Indirect pronoun 10:-t ooz occurs between
the nominal predicate and its nominal possessor. Note that here both the suffix
pronoun on the nominal predicate and that on the Indirect pronoun have coreferring
noun-phrases, occurring in the same order as the pronouns (cf. the two nouns in the
transitive clause in 4.a.1.a.); the one coreferring with the Indirect pronoun occurs
after the preposition ?7a &..:

(143) Z3i/t/=2ki-Pansk WEtk" -¢ lo-¢ -- lip wak-[t/-F $ku-wilksitkW
that's=NCand cause.of fun-3 IND-3 self M's.brother-[3]=NC little-prince
7a=¢ Wi ljp wak-t==ki-
PREP=NC big self brother-3==DISTAL
Then the prince's own brother was making fun of his big (oafish) brother. (196.5-6)
(lit. he was making fun of him, the prince's own brother, of his own big brother)
Nitil ki ansgwatkwt loot, lip wakhl Blgu wilksiblkw, ah! vii lip wakt-gi

4b. Adjunctsother than nouns: Nouns are not the only elements that can be adjuncts
to pronominal arguments. In one case, st and 2nd person independent pronouns are
used as adjuncts to the corresponding preverbal Ergative pronouns, in exact
parallelism with adjunct nouns. The 3rd person plural suffix is also used as an adjunct
to the 3ERG pronoun, in complementary distribution with a noun.

4b.1. Independent pronouns adjuncts: This is the case of the quoting verb yé, pl.
hi-ta ‘to say ".." ya/hifda, which has some morphological and syntactic
peculiarities.27 It follows the words quoted and is always preceded by an Ergative
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pronoun.

4b.1.a. With 3ERG pronoun: A 3rd person Ergative pronoun is morphologically linked
to the verb by an epenthetic vowel; the verb can be followed by a coreferring noun
which receives secondary stress. .

(144) . “L(a)-yd "..."s/he said,
.. 3ERG-say ’ " " diya.
(145) .. “L(3) -yd Lt MAry """ Mary said.
.. 3ERG-say DM M. " "diva t Mary.
(146) .. “L(a) -1l ta *.." they said.”
.. 3ERG-say PL " "dihiida.
(147) .. “L(a)-hitatipMdry - . Mary and them' said.
.. 3ERG-say.PL DM.PL M. ".. "dihiida dip Mary.

4b.1b. With Ist person ERG pronoun: If the Ergative pronoun is Ist perscn,28 itis
followed by a corresponding independent pronoun which receives secondary stress (at
least for older speakers; younger speakers tend to omit the 1st singular independent
pronoun):

(148) ... "1 -yd (dlF) ".." I said,

.1 ERG-say me " "niva (Bify).
(149) .. "LIp-hita nd-m ".." we said.

.. IPERG-say.PL us " "dip hilds duusk.

The optional use of nouns and obligatory use of 1st person independent pronouns
recalls the structure of Predicate-focused transitive clauses (2.b.2.,2.c.).

4b.2. Plural suffix adjunct to 3rd person pronoun: The plural suffix -t1:L .. is also
used as an adjunct to a 3rd person clitic (Ergative) or suffix pronoun, in the absence of
a noun. Here there seems to be true complementarity between noun and pronoun, but
some morphosyntactic irregularities associated with this pronoun (as against the other
suffix pronouns) argue against this conclusion. This suffix is composed of the
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indefinite suffix —t1: (T 1986:2; cf. (121)) and the 3 suffix —t, and it seems to be a recent
addition to the list of Nisgha personal suffixes. Keeping its components separate
throws light on some otherwise puzzling data. 29

4b.2.a.. Plural adjunct to 3ERG in regular clause: In a regular clause, when the 3ERG

pronoun refers to a plural (especially human) Agent that is not specified by a noun
adjunct, the predicate is suffixed with the 3P suffix —t1:t, in the sequence t ..[PRED]
-ti:t.

4b.2.a.1. Surface occurrence: The 3P suffix isin complementary distribution with a
plural Agent noun, so that it too can be considered an adjunct to the 3ERG suffix.

Compare for instance:
(150) ,}/l}z{’w -t dmom-titt Méry They are helping Mary.
AUX-3ERG help.s-3PDM M. Yukwt hlimoomdiit (t) Mary.

(51) puk? -t #imom-[t] f hd-ndq ¢ Mary The women are helping Mary.
AUX-3ERG help.s.-[3] NCwomen DM M. Yukwt blimoomhl! haanak 't Mary.

(152) ]/)XW -t Hmom-ti-t They are helping her/him.
AUX-3ERG helps.-3P Yukwt blimoomdiit.

(153) puk? -t imém-{t] f hd:nd§  The women are helping her/him.
AUX-3ERG help.s.-[3] NC women Yukwt hlimoombl! hasnak'.

As described here, the two structures are not entirely parallel: when a noun Agent
corefers with the 3ERG pronoun, the verb has a suffix indicating the Object; but when
the 3P pronoun corefers with the 3ERG pronoun, there is no indication of the Object.
However, another interpretation is possible.

4b2a2. Interpretation: The 3rd person plural suffix —ti:t is nota single suffix, but
consists of the Indefinite personal suffix —ti: (originally a plural or collective suffix,
hence glossed PL here) followed by the 3rd person suffix —t. We can interpret the
plural morpheme —U1: as the adjunct to the 3ERG pronoun, and the following 3 suffix
pronoun —t asthe Absolutive argument coreferring with the Object noun: compare
the following sentences, with plural and singular Agents:

29
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(154) puk? -t Hmom-ti—¢ They are helping him/her.
AUX-3ERG help.s.-PL-3 Yukwt blimoomdiit .

(155) yuk? -t dimom-¢ S/he is helping him/her,
AUX-3ERG help.s.-PL-3 Yukwt blimoomt.

(156) yuk" -t Hmom-ti—~t ¢ Méry They are helping Mary.
AUX-3ERG help.s-PL-3DM M. Yukwt blimoomdiit (t) Mary.

(157) yuk? -t imom-[t/=s/tMary  S$/he is helping Mary.
AUX-3ERG help .s.-PL-[3]=DC [DM] M. Yukwt Alimooms Mary.

In the last two examples, which are modern, the connective =S does not occur after the -

plural suffix, so that structures with singular and plural Agent are not exactly parallel.
However, the parallel plural structure with connective as in (157) does occur in a few
examples from Boas (cf. above 3.c.1b.2.):

(158=115) 75/t /=3&I~Lsa.=k ll~Li—t=5 [t/ 4k  Then they took Ts'ak off (120.15),

it=NC and-3ERG off-take s.-PL-3=DC [DM] Ts'ak Nib1 kit sasguudiits Is ak

As this example is more in keeping with other singular-Agent structures than the
modern type as in (156), it is likely that it represents an older construction, and that
the modern one is analogical to the equivalent predicate-focused construction in (164)
below (there are other examples of this sort of analogy in the language).

4b.2.b. Predicate-focused clause: Plural suffix adjunct to 3 suffix: The 3P suffix can be

_ 'adjunct’ to the 3 suffix as well, with transitive verbs or possessed nominal predicates in
predicate-focused clauses. Again, in these cases analysis of this suffix as a compound
of two suffixes helps to understand some peculiarities of its occurrence.

4b.2b.1. With transitive verb: referringto Agent:

4b2.b.1a Non-use with nouns: In a predicate-focused clause, the personal suffix
refersto the Agent. The 3 suffix —t is used with the coreferring noun, whether
singular or plural:
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(159) fimom-o-t{t/Miry S/he helped Mary.
help.s.-CTL-3 me DM M. Hlimoomit (t) Mary.

(160) #imom-a-Lt/=s{t/L dcyt Miry Lucy helped Mary.
help.s.-CTL-[3]=DC[DM]LDM M. Hlimoomis Lucy(t) Mary.

(161) #imim-a-[t/=tha-ndqd t Miry  The women helped Mary.
help.s.-CTL-{3]=NC women DM M. Hlinmoomibl hasask’ (t) Mary.

(162-35) #imom-o-t iy tip L dcy Lucy ‘and them' helped me.

help.s-CTL-3 me DMPLL. Hlimoomit aifiy dip Lucy.
(162) fimim-o-Lily ¢ fixtki-2Ws-F My sisters helped me.

help.s.-CTL-3 me NC W's.sisters-1S Hlimoomit niyvhl hlizhlgiikwsiy.
4b2b.1b. Use in the absence of a noun: The 3P suffix is used only in the absence of a

coreferring noun. If it is considered as a single suffix, there is a discrepancy in its use,
since unlike the other personal suffixes, it is not used with the Control suffix -9

(164) #imo-m-Li-tlt/Mary They helped Mary .
help.s.-3P me DM M. Hlimoomdiit (t) Mary.

(165=27) #imdm-a-LIt/Mary S/he helped Mary.
help.s.-CTL-3 me [DM] M. Hlimoomit (t) Mary.

However, considering it as two suffixes suggests that the Control suffix occurs between
the two suffixes, and is deleted or absorbed phonologically: thus singular and plural

are pa,rallel:30
(166=164) Hmom-Li-—a-E[t/Mary They helped Mary.
help.s.-PL-CTL-3 [DMIM Hlimoomdiit (t) Mary.

4b.2b.2. Plural suffix Adjunct to 3 suffix on possessed nominal predicate:

With possessed nouns as with transitive verbs, the3P suffix occurs only in the absence
of a coreferring noun; otherwise, the 3 suffix alone indicates the possessor, whether
single or plural.
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(167) S/EkL2hWs—L rily S/he adopted me.
adopted.child-3 me (lit. I am his/her adopted child)
Siblguuhlkwst 4Ly,

(168=138) S/k U #h Ws—L /717 ¢ MAry  Mary adopted me.
adopted.child-3 me DM M. (lit.  am Mary's adopted child)
Sihlguuhlbwst aiiy t Mary.

(169) S/#kd ¢k Ws-L fily Lip MAry qan=s[t/Péter
adopted.child-3 me DM.PL M. and=DC[DM] P.

Mary and Peter adopted me.
Siblguublkwst nify dip Mary gans Peler.

(170) S/#kd ¢k Ws-ti—L iy They adopted me.
adopted.child-PL-3 me (lit. I am their adopted child)
Sihlguuhlbwsdist aiiy.

5. i \'{ ono jerarc

The data in sections 3 and 4 above show that pronouns and nouns are not in

complementary distribution, but that nouns are Adjuncts to nouns. Jelinek'sargument -

hierarchy 1,2 > NP then is irrelevant, since is is based on an analysis which considers
NP's as arguments, a position that is no longer tenable. It is however legitimate to ask
whether there is a hierarchy of proaoun arguments.

S.a. Case of 1st and 2nd person pronouns: As described in section 2., an Agent noun,

coreferring with the Ergative pronoun, occurs sefore an Object noun but affer a Istor -
2nd person independent Object pronoun, a fact which Jelinek attributes to an argument-

hierarchy 1,2 > NP (1986:9). If NP's cannot be arguments, only adjuncts, the need for

the argument hierarchy disappears. There is no hierarchy either among the suffix
pronouns.

5.a.1. Regular clause: With this analysis, the imbalance between 1,2 and 3 Objects
disappears: in both cases, there is an Object pronoun suffixed to the verb (although it
is hidden most of the time) and the noun corefers with the Ergative pronoun which
precedes the verb:
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(171=37) Jrub¥ -¢ Hmo-m-§ L L dcy Lucy is helping me.
AUX-3ERG help.s-1SDML. Yukwt hlimoomiy t Lucy.

(172-19) yuk? -t #imom-[tEs/t/L UCy Lucy is helping him/her.
AUX-3ERG help.s.-[3]=DC {DM] L. Yukwt hiimooms Lucy,

5.a.2. Predicate-focused clause: In a transitive predicate-focused clause, only 1st and

2nd person Objects are represented by a separate word, an independent pronoun
(which has secondary, not primary stress, unlike a noun Object); a predicate without
overt Object is understood to refer to a 3rd person. A noun coreferring with the suffix
indicating the Agent occurs after the verb-(+ 1, 2 prououn)-phrase:

(173=29) #mdm-a-t S/he helped him/her.
help.s.-CTL-3 Hlimoomit.

(174=30) #mom-o-[t]=s [t/ dey Lucy helped him/her.
help.s.-CTL-{3]=DCIDM]L. Hlimoomis Lucy.

(175=32) #imo:m-a-t 7ily S/he helped me.
help.s-CTL-3 me Hlimoomit aiiy.

(176=33) ¥mom-a-L [.7’1;',[/a IA H‘C] Lucy helped me.
help.s-CTL-3me DML. Hlimoomit difyv t Lucy.

Whether or not there is an Object pronoun, the Agent noun (the noun coreferring with
the Ergative pronoun argument) ¢ Lucy is added after the verb phrase. The main
difference is that a connective is used if the noun is connected to the suffixed verb, not
if another morpheme, here Ni-§ 'me’ A4 intervenes.

Addition of the noun after the pronoun could be due to analogy with the structure of
the regular clause:

R: (177-171) Ui -¢ ¢imom-y L LUCF  Lucy is helping me.
AUX-3ERG help.s-1SDML. Yukwt hlimoomiy t Lucy.

P-F: (178-176) #mOm-9-L 7L LUCY  Lucy helped me.
help.s-CTL-3 me DM L. Hlimoomit nify t Lacy.

33



E74

5.b. Case of 3rd person independent pronouns used as Objects: Asking a Nisgha
speaker for translations of English sentences with 3rd person pronoun Objects usually
yields sentences such as:

(179) Fimoin-a-[t/=s/tL ucy mit Lucyy helped him/her.
help.s.-CTL-[3]=DC [DM] L. him/her/it Hlimoomss Lucy dit.

(180) yuk? -t dimo.m-(t/=s(t/L ucy it Lucy is helping him/her.
AUX-3ERG help.s-[3]=DC [DMIL. him/her/it Yukwt hlimooms Lucy dit.

In these clauses, the 3rd person independent Object pronoun nit31 s placed after the
Agent noun, in the position of the Object noun (2.2.2.). The position of this 3rd person
pronoun differs therefore from that of the 1st or 2nd person independent pronoun,
which is placed after the verb, before the Agent noun. This difference between
independent pronouns would seem to indicate a hierarchy 1,2> 3.

However, such clauses are not adequate evidence, as they are the product of artificial
conditions: they are oral translations of English sentences without a context, rather
than answers to meaningful questions. The speaker is trying to faithfully translate the
English sentence, which does contain an independent pronoun, and as well, the
necessity of speaking the words slowly for the benefit of the linguist distorts the
normal stress pattern which would differentiate (181) and (182): -

(181) yz)&W -t Himo-m-1t/=s/1 [/Mé/‘}/ Mary is helping him/her.
AUX-3ERG help.s.-[3]=DC [DM] M. Yukwt blimooms Mary.

(182=17) yukY -t #imom-(t/=s[L/MEry  $/he is helping Mary.
AUX-3ERG help.s.-[3]=DC [DM] M. Yukwt hlimooms Mary

so that (181) requires the addition of the singular pronoun Qit 4/ in order to make
the meaning explicit (T1987a:158-9). It is not the case that this pronoun is normally
present and can be omitted; rather, it is a highly marked form, normally used only in
initial, focused position. In Boas' 1902 collection of Nisgha legends, use of this pronoun
after a transitive verb (as in (179, 180)) is found only once in more than 200 pages,
while examples similar to (181) are found on practically every page.
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It is more common to encounter the plural pronoun fiti:t didize in this position, as in

(183) $imdm-a-/t/=s/t/Méry diti-t Mary helped them.
help.s.-CTL-[3]=DC [DM] M. them Hlimoomis Mary didiit.

(184) puk? -t fimom-t/=s /1 [/Mé!:}f Aiti-t Mary ishelping them.
AUX-3ERG help.s.-[3]=DC [DM] M. them Yukwt hlimooms Mary aidiit.

Again, such clauses are somewhat artificial. In Boas 1902, the pronoun is not used as
(adjunct to an) Object, unless preceded by a prefix or modifier as in (72) above.

The modern use of these pronouns as adjuncts to Objects parallels their use as
Absolutive arguments to non-transitive predicates. Such use is hardly ever found
either in Boas 1902, but it is gaining ground in modern usage under the influence of
English, especially when referring to a plurality of humans (T 1987b, section 58.).

Equivalent sentences in more traditional usage have demonstratives instead of
independent pronouns. The functional equivalence between demonstratives and
independent pronouns, and the shift towards the latter, is shown as well by the use of
the plural determinate marker tip dip before plural independent pronouns (T 1981:
398-9); like determinate nouns, demonstratives always occur with a determinate
marker).

The modern examples with 3rd persons independent pronouns show that these
pronouns are being used in place of nouns and treated like them, instead of paraliel to
Ist and 2nd person independent pronouns.

6. Concluding remarks:

While some superficial features of Nisgha morphology and syntax seem to show a
complementarity between pronominal and lexical arguments, a variety of data show
conclusively that the argument structure is underlyingly pronominal, and that there
are no lexical arguments. The question of a hierarchy between pronominal and lexical
arguments therefore does not arise.

Among pronominal arguments, there is no difference in treatment between suffix
pronouns once it is recognized that the lack of overt occurrence of 3rd person suffixes
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under certain conditions is phonologically motivated. There is therefore no hierarchy
there either. The treatment of independent Ist and 2nd person pronouns does differ
from that of 3rd person pronouns, but the occurrence of the latter is a still marginal
phenomenon.

At a deeper or older level, then, Jelinek's analysis of Nisgha as having a mixed
lexical-pronominal argument structure and an argument hierarchy is not tenable.
However, it is usually the case in languages that when underlying structures are no
longer recoverable from surface features, a realignment occurs, with new
morphological and syntactic relationships. The interpretation of Nisgha syntax as
having pronominal arguments rests on the recoverability of the 3 suffix —{ in the
presence of a coreferring noun. Numerous features of the Boas texts show definitely
the presence of this suffix in a variety of environments and make it possible to
extrapolate to other environments, but in modern data the occurence of the suffix
together with a noun is almost totally obscured, except before additional suffixes such
as the postclitics. It seems then that for modern speakers nouns are indeed lexical
arguments, and the presence of the suffix before postclitics is an archaic remnantora
puzzling intrusion 32 The influence of English, causing the use of independent object
pronouns in the same position as nouns, has introduced another factor and a difference
between 1st and 2nd person pronouns, and 3rd person pronouns, which could be
construed as showing a hierarchy. For some modern speakers, then, Jelinek's analysis
may be justified, but a larger view must take into account all the environments which
do show the presence of the suffix, and which point conclusively to an exclusively
pronominal argument structure, without a hierarchy. ‘

In a larger perspective, Jelinek seems to consider that Nisgha ergativity is linked to
the fact that it has pronominal arguments: ‘argument hierarchies, non-accusative
case, and the absence of a VP node are all syntactic features frequently found in
languages with pronominal arguments’ (1986:15-16). This statement may be true, but
the Nisgha case shows that argument hierarchies are not a necessary ingredient of this
complex of features.

NOTES

* The ancestral language of the Nisgha /nisqd?/ [nIsG472] Nisgaa people, who live in
the Nass Valley of British Columbia, belongs to the Tsimshianic family. The data
presented here were collected during the course of my employment with the
Bilingual/Bicultural Centre of B.C. School District #92 (Nisgha), in 1977-80, in the
summer of 1982, and in 1983-88. Analytical work on the language was supported by
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SSHRC doctoral fellowships held at the University of Victoria in 198{-82 and 1982-83. |
have had the privilege to learn what Nisgha | know in its natural environment, from
excellent speakers. I especially wish to thank, in alphabetical order, Mrs. Audrey A.
Gosnell, Mrs. Nita Morven, Mrs. Rosie Robinson, Mrs. Verna Williams, all present or
former teachers of the Nisgha language, and Mr. Harold Wright, who is an elder and a
hereditary chief in the Eagle clan. Mr. Bert McKay, coordinator of the
Bilingual/Bicuitural Centre and a hereditary chief in the Frog/Raven clan, arranged
for me to have access to these and other resource persons. The conclusions in this
paper are my own, and | alone am responsible for any errors.

1. These sentences may surprise readers who only know French from taking it in
school, where it is probable that only the grammatical but colorless /aime /e poulet
would have been taught. Formal, literary Freach is a lexical argument language,
colloquial French a pronominal argument language, with many speakers using a mix
of argument types depending on circumstances.

2 . Within the text, bold type indicates morphophonemic transcription, italics give the
corresponding standard Nisgha orthography if different. Nisgha examples set off from
the text are given in italics, with morphemes under discussion highlighted by bold
type. Deletion of elements between square brackets is phonologically conditioned.
English names are not transcribed, but stress on them is indicated.

3. The terms 'regular clause' and 'predicate-focused clause’ (see below 2.b.) have been
used in T 1987b in preference to Rigsby 1975's ‘'dependent order clause’ and
'independent order clause' respectively. Boas 1911 refers to the same patterns as
‘'subjunctive’ and 'indicative.’

4. This is a simplified account of connective occurrence, which is described more fully
in section 6.2.b. of T 1987b. One complication is that the connective =% isthe
non-determinate counterpart of both the connective =s and the determinate marker t,
as well as occurring before a clause in many instances. In the transcriptions below,
starting in section 3., the connective =% is shown with the attachment marker =in its
connective role, without it (just ¥ ) in its non-determinate marker role. Section 2,
however, does not make this distinction.

5. Similar examples and analyses have been given in Rigsby 1975 and most subsequent
publications on Nisgha, including Jelinek 1986. The present paper presents the
justification for the pronominal-argument interpretation adopted in T 1987b, which
owes much to the questions raised by Jelinek.

6.(a) Abbreviations: ASST Assertive, ATTR attributive suffix, AUX Progressive
Auxiliary, CAUS Causative, CTL Control suffix, DC Determinate connective, DEF Definite
Medial suffix, DM Determinate marker, DOM Dominative (called Comitative in T 1987a),
DUB Dubitative, ERG Ergative, FUT future, IND indirect pronoun, INDEF Indefinite, INTS
Intensive, IRR Irrealis, NC Non- determinate connective, REP Reportive, P or PL Plural,
PRED Predicate, S Singular, SUB Subordinator.

(b) Morpheme separators: - separates most morphemes, including pronominal clitics; )
follows a reduplicated syllable; = separates a proclitic (adverbial) from the following
element, or a connective from a preceding element; == separates a postclitic (evidential)
from the preceding element,

(¢) The suffix -t is glossed as '3' rather than '3S' because it is undifferentiated for
number. The 3rd person plural suffix -ti:t ..diz which consists originally of the
Indefinite personal suffix -ti: ..diF and the 3 suffix -t , occurs only with animates,
especially humans, in complementary distribution with noun-phrases (T 1986:2; see
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also below 4b.2b.1.)

7. Evidence for the deletion of the singular Determinate Marker t between /s/ and
another consonant (including a glottal stop) was first presented in T 1986, fn. 4. The
cluster-simplification rule also operates in other environments,

8. See below 4.a.1. for exceptions to this rule.

9. T 1987a presents a number of examples showing that a single noun is much more
often the Agent than the Object.

10. Examples in T 1981 and in ] 1986 include the pronoun @it 'him/her/it' at the end of-
this type of clause. See below 5.b. for discussion.

11. The predicate can be preceded by modifiers and modal particles such as FUTure and
IRRealis, but not by the auxiliaries, subordinators, etc. which usually precede the
regular clause (1. above).

12. see note 10,

13. (a) The existence of this suffix (-3~ after consonant, -¥ 9~ after vowel) was first
recognized in T ms. [1981], where it was called Contro!l. In subsequent papers (T
1982-1986) it was called Ergative, since it seems to indicate that the element following it
has Ergative function. In 1987 the original gloss Control (CTL) was used again. The-
term is still not fully satisfactory but seems suitably vague.

(b) The suffix occurs only in predicate-focused clauses, except before the 3P suffix -ti:t .
.diit (Jelinek's data are incorrect on this point); this exception is not due to
phonologlcally -motivated deletion, see below 4.b. 2 b.1.

(¢) The suffix does a0t enter into the Relative suffix (a)t which is unanalyzable cf.
T 1982, fn. 15.

14. Note here the contact between /t/and /3/; cf .note 17.
15. See note 10,

16. Boas 1902 is an invaluable collection of texts in the Nisgha language, gathered in
Kincolith in 1894. The texts contain numerous discrepancies from present language
use: some are clearly transcriptional errors, but many others represent older features.
In the examples from this source given below, discrepancies relevant to the discussion
have been preserved, but others have been corrected. All sentences have been
retranslated directly from the Nisgha text. References are to page and line number.

17. Deaffrication is general but not automatic: it does not occur when /4/ precedesan
Object noun, as in (28).

18. In rapid or careless speech, the suffix -t may be deleted by the cluster-
simplification rule, see text to note 7.

19. This clause is an example of a 'free’ regular clause, one occurring without an
introductory word (the two morphemes preceding the predicate are modifiers, which
do not affect clause status); such a clause implies the occurrence of other context,
whether linguistic or extra-linguistic. Free regular clauses are often best translated as
participial clauses in English,
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1Y/
- 20. This description applies to traditional usage, such as that found in the Boas texts;

under the influence of English, many modern speakers keep the whole noun-phrase
together.

21. The particle here translated as ‘the' for convenience is not an article. Here it
occurs before a headless Object-relative clause.

22. When dictating very slowly, word-by-word, many speakers omit the =% .4/
connective especially between Agent and Object noun.

23. The Definite Medial suffix -T- occurs phonetically sometimes as /t/ (/tt/ aftex}vowel
and non-glottalized resonant) and sometimes as /9/, as here; the conditioning is
complex, and the realization /3/ can cause confusion with the Control suffix. See T
1987b, section 7.2.c.1.a. for more details.

24. The context describes a children's game: they each had a stick, with which they hit
another stick instead of a ball.

25. In predicate-focused clauses, the only difference, which allows identification of
the predicate as a noun or transitive verb, is the absence or presence of the Control

- suffix —0—, since only transitive verbs take this suffix.

These nominal predicate constructions also often correspond to English verbal
constructions, especially with abstract words prefixed with ha- or ?an- ‘cause of ..; as
a result, some younger speakers confuse the two Nisgha constructions, and treat the
abstract nominal predicates as transitive verbs, complete with the Control suffix.

26. Asked to translate the English sentence, a younger speaker might say

Lh0 Y -[t)s [t/ Miry diy Hlguuhlbws Mary 4y,
child-[3]=DC [DM] M. me

which shows English influence.

27. The -ta of the plural form is an old plural suffix, now frozen.T 1983 derives the
plural stem hi: and the singular stem y4 from a common source.

28. This does not occur with 2nd person pronouns; the 2nd person stem is irregular as
it seems to have a suffix-?n : e.g.
7ak0 mo yd’an 'What did you say?'
what-2ERG say-CAUS??7 Agumiyaan?

29. The suffix was first identified as originally bimorphemic in T 1983:181. However,
there are also cases where the suffix should be interpreted as unitary because of more
recent structural realignment (ibid. note 91b).

30. I first suggested this interpretation in T 1983:210-211 (note 91c) but did not use it in
subsequent analyses because of what appeared to be a lack of confirmatory data.
Considering the -ti: ..d7 suffix as the adjunct in both regular and predicate-focused
clauses provides the missing link.

31. This pronoun is itself composed of the base fii- 'that's .. and the 3 suffix -t. All
independent pronouns are originally formed on this base, but several
morphophonemic irregularities show that this is not a productive process. Only with
the third person singular is the base used as a predicate, as in example (95).

32. cf.in French the obligatory presence of a pronoun in questions such as
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La terre est-elle bien ronde? 'Is the earth indeed round?’
the fem. earth is she well round.fem.

and the extra -t- (analogous to the 3rd person ending of some categories of verbs) in

La terre tourne-t-elle vraiment? ‘Does the earth really turn?'
the fem. earth turns-..-she really '

The extra -t- also occurs in archaisms such as in the old folk song

Malbrough sen va-ten guerre '‘Marlborough is going away to war'
M. self from.it goes-..-in war s :

the modern equivalent of which would be

Malbrough sen va 3 [a guerre ‘Marlborough is going away to war'
M. self from.it goes to the war
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